S-4-2-1_Wrap It Up Activity and KEY

Wrap It Up
Name: __________________________                Date: ______________

WRAP IT UP

Directions: Now it’s time for you to show what YOU have learned about adaptations. Write a paragraph explaining why a human, fish, and frog cannot live in the same environment.                                          
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Short Answer Rubric
Student answers may vary.
	Points
	Description

	3
	· Demonstrates clear and concise understanding that all three cannot live in the same environment because of the way they:

· breathe

· eat

· move/transport
· communicate

· protect themselves

	2
	· Demonstrates clear and concise understanding that all three cannot live in the same environment and includes at least 4 of the examples above.

	1
	· Demonstrates clear and concise understanding that all three cannot live in the same environment and includes 3 or fewer of the examples above.

	0
	· Does not demonstrate an understanding. Did not include any of the examples above.


